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@ A participantin a javelin—throwing' competition throws his javelin from a height of 3 metres.
The javelin's trajectory describes a parabola, and the javelin reaches a maximum height of
- 14 metres. Upon reaching this height, the javelin has travelled a distance of 3 metres from

the starting point. Determine the length of the th row. Round off your answer to the nearest
hundredth. Clearly show all your work.
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p\/ A participant in a javelin-throwing competition throws his javelin from a height of 6 metres.
The javelin's trajectory describes a parabola, and the javelin reaches a maximum height of
12 metres. Upon reaching this height, the javelin has travelled a distance of IS metres from
he starting point. Determine the length of the throw. Round off your answer to the nearest
wundredth. Clearly show all your work.

Neckex |
=
(i) LR
(W5 il
1\
-P(:CS
‘l_sﬂ_._,_> distance_(;)
’C(’O & 0»(‘:(-—\!\\1-\’\(_ gﬁr«m&k Loc ch\o\bc\fk
b= o (0-\5)x22
g “"(—\6)2—% 2
b6 = 9250 427
i B = B ity
— 2250 :"J:_(E_
—gak 895
O = = 3 D—l\\
| ¥ ) ——\‘njru +
T = N W T 5 J T Need #-tntecsd
2 & C\S -_03
O = 'O~O”]\(7L~\§) XL
O = 'O~O'1\(><~\s’)&--\§> SN o

it ooy 1 y
= —0.07\( x - 28 225y ¥ T2

o
D E —po NS 231505 s 2L
b= Dy b0 \B gl 4 8025 2 Lo -



o4

b

\

A_,q, co\r\JC
& =0, 07\
ol @2

g = 5085

= -’\Dt X \02-’*\1\0LQ
3%
= -2t {Ewy- G.ondleos)
i
X (-0.0710)

i} 4=
e R - T ESS(DOX'\— e 218 1

= 1 = 1Y e
e ";\gf— a5
g o I B

s *2&) | CUJV\‘-"C. VR

- (Bt D)

P O R



o,

h- @ A participantin a javelin-throwing competition throws his javelin from a height of 5 metres.
The javelin's trajectory describes a parabola, and the javelin reaches a maximum height of
2 metres. Upon reaching this height, the javelin has travelled a distance of IT metres from

tie starting point. Determine the length of the throw. Round off your answer to the nearest
hundredth. Clearly show all your work.
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@ A participant in ajavelln-throwmg competition throws his javelin from a height of 7 metres.
The javelin's trajectory describes a parabola, and the javelin reaches a maximum height of
2 metres. Upon reaching this height, the javelin has travelled a distance of 22 metres from

the starting point. Determine the length of the throw. Round off your answer to the nearest
hundredth. Clearly show all your work.
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Q,’@ A baseball is thrown over a Sm high fence. The fence is 6m from the origin of the throw
The ball lands 14m away. If the path of the ball describes a parabola, what is the

maximum height reached by the ball?
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%’ A golfer hits a ball over a 4 metre high wall. The wall is 4m from the origin of the shot.
The ball lands 10m away. If the path of the ball describes a parabola, what is the ‘

maximum height reached by the ball?
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%A dolphin is executing jumps in the main pool of an aqua park. To do this, the dolphin
must jump over a rod located 1 metre from the water outlet. This rod is 1 metre high.
The distance between the point where the dolphin exits the water and the point where she
reenters it is 4 metres. If the dolphin’s jump describes a parabola, what is the maximum

height reached by the dolphin?
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%A killer whale is executing jumps in the main pool of an aqua park. To do this, the whale

must jump over a rod located 3 metres from the water outlet. This rod is 3 metres high.
The distance between the point where the whale exits the water and the point where she

reenters it is 8 metres. If the whale’s jump describes a parabola, what is the maximum
height reached by the whale?
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- Three computer technicians received a bonus that was added to their salary. In the graph
below, ‘
- line 4, represents Bryan’s salary (including the bonus)
- line §, represents Trevor’s salary (including the bonus)
- line §4 represents Paul’s salary (including the bonus)
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' Ifall three technicians worked 40 hours this week, which one received the highest weekly

salary ¢
L3 (b,50) (3,100)

Clearly show all your work.
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e.r Three mechanics received a bonus that was added to their salary. In the graph below,
- line % represents Allans’s salary (including the bonus) '
- line 4, represents Melvin’s salary (including the bonus)
- line Q.Srepresents Matt’s salary (including the bonus)
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If all three mechanics worked 40 hours this week, which one received the highest weekly
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D/ Ronnie’s fitness club and John’s fitness club are competing to attract new members.
Ronnie’s club calculates the number of members using the rule f(x) = 0.25x> +223,
where x represents the number of days. On opening day, John’s club has 95
members. On the 167 day the two clubs have the same number of members. The
following graphs show the change in the number of members over a one-month

period.

Number of
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Calculate the number of members in John’s club on the 27" day.

Clearly show all your work.
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@ Elyse’s fitness club and Noah’s fitness club are competing to attract new members.
Elyse’s club calculates the number of members using the rule f(x) = 0. 4x* + 140,
where x represents the number of days. On opening day, Noah’s club has 120
members. On the 20" day the two clubs have the same number of members. The

following graphs show the change in the number of members over a one-month
period. '
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Calculate the number of members in Noah’s club on the 24" day.
Clearly show all your work.
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D~ 9 Sandra’s fitness club and Pam’s fitness club are competing to attract new members.
Sandra’s club calculates the number of members using the rule
f(x) = 0.75x" + 199, where x represents the number of days. On opening day, Pam’s
club has 100 members. On the 18™ day the two clubs have the same number of
members. The following graphs show the change in the number of members over a
one-month period.
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Calculate the number of members in Pam’s club on the 30" day.
Clearly show all your work.
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D/® Mike’s fitness club and Dave’s fitness club are competing to attract new members.
Mike’s club calculates the number of members using the rule
f(x) = 0.6x” + 210, where x represents the number of days. On opening day, Dave’s
club has 180 members. On the 15™ day the two clubs have the same number of

members. The following graphs show the change in the number of members over a
one-month period. '
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Calculate the number of members in Dave’s club on the 29" day.
Clearly show all your work.
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E ® Two companies issued their shares at the same time. The fluctuations in the value of the
shares were studied over a 4Y5-day period. First, it was established that the value of-the

shares of Company A varied according to the rule V(x ) = —0.0I%% + 0.6x 4 12. Then.
the fluctuations in the value of each company’s shares were represented in the following
graph. ,
A Vi
Value of
shares (3) i Q \&“‘ w
_ U‘
\l Company B
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(1e,)
- s
e ys Number of days

Which company experienced the longest period of growth during this time?

Clearty show all your work.
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g" Two companies issued their sha-res at the same time. The fluctuations in the value of the
shares were studied over a 25 -day period. First, it was established that the value of-the

shares of Company A varied according to the rule‘V(x) = —0.04%2 + L2x + 18  Then,
the fluctuations in the value of each company's shares were represented in the following
graph. :
A V(x)
Value of
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Which company experienced the longest period of growth during this time?

Clearly show all your work.
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6 @wo companies issued their sha-res at the same time. The fluctuations in the value of the
shares were studied over a 28-day period. First, it was established that the value of-the

shares of Company A varied according to the rule V(x) = -0.06x* +2¥ax + 12 . Then,

the fluctuations in the value of each company’'s shares were represented in the following

graph. -
A V(x)
Value of
shares (8)
Company B
Company A
(W)
>
Number of days

28
Which company experienced the longest period of growth during this time?

Clearly show all your work.
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6" @ -Two companies issued their sharres at the same timé. The fluctuations in the value of the
shares were studied over a Ys-day period. First, it was established that the vaiue of-the

shares of Company A varied according totherule V(x) = -0.03x* + 144x + 12, Then,
the fluctuations in the value of each company’s shares were represented in the following
graph.
A V(x)
Value of
shares (%)
Company B
Company A
f (\3,&'1)
>

Number of days

Which company experienced the longest period of growth during this time?

Clearly show all your work.
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f" CD Two shells were launched during a fireworks display. The height in metres reached by the
shells is defined by the following rules:

2
1) -t y6t
= .-{:7'+ t —8 where t represents the time elapsed, in seconds, since
the launch.

=
Il

The situation is described by the following graph:

&y
Height (m)

S

Time (s)

Calculate the difference between the maximum heights reached by the two shells.
Clearly show all your work. '
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?’- @ Two shells were launched during a fireworks display. The height in metres reached by the
shells is defined by the following rules:

P
h1(x) = =gl
hpy = — 18t — Y where t represents the time elapsed, in seconds, since
the launch. :

The situation is described by the following graph:

&y
Height (m)

%

Time (s)

Calculate the difference between the maximum heights reached by the two shells.
Clearly show all your work.
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?@ Two shells were launched during a fireworks display. The height in metres reached by the
shells is defined by the following rules: '

L, = —t % 4t

()
where t represents the time elapsed, in seconds, since

hz(nj o Faa ‘bq'-{- GC =72

the launch.

The situation is described by the following graph:

&y
Height (m)

Time (s)

“ Calculate the difference between the maximum heights reached by the two shells.

Clearly show all your work.
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G‘ in a laboratory, a biologist is studying a new type of bacterium. For his study, he places
25 thousand bacteria on a plate and notes that their number doubles every hour.

a) Complete the following table of values:

X
s 0 1 2 3 4 ‘ 5 6
f(x) | I
(thousands of 2.5 50 60 | 200 | Y60 | 60 | \LOO
bacteria) _ .

b) Graph this functional situation.
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c) lIs the function decreasing or increasing?  Answer: ;nmw

D,
Explain your answer by giving two ordered pairs. (D, 'L*Q ( T L \DO
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d) What is the range of this furnction?
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e D A high school graduating class is trying to raise $5000 for a school trip by selling
raffle tickets. The students are unsure of how much to sell the tickets for. They

want to ask at least $2 per ticket, but they are considering asking as much as $40 per

ticket. The students considered different prices for a ticket and, for each price, the
number of tickets they would have to sell.

a) Complete the following table of values:

b)

c) What is the domain of this function? -

=
(price per TickeY)

2
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20
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y !
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Graph this functional situation.
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d) Is this function decreasing or increasing?

Answer: AQC.C&M“\
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